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BIRE B 2 = > siny DEMT %R XK.
BB 2, = (2"siny),, siny \FERIZHD D 2, = (%) siny = 2% (2z) siny = 2e** siny
zy = (e*"siny),, e** WFEBIZH S 2, = e**(siny)’ = €2 cosy
dz = zpdz + z,dz WA LT dz = 2€** siny do + €** cosy dy
1. ROBBDOEW T ZRD XK.
(1) z =223y — 3z%y* (2) z=+x -2y
(3) z =sin(2x +y) (4) z =log (22 +y)
ﬂ%Hﬁmﬁ>§i®ﬁ@¢m—mm%w%%ﬁﬁ%*m&
R B 2 = f(z,y) KBWTHE LD (a,b, f(a,b)) BT 2 FH D HEA
z— f(a,b) = fz(a,b)(z —a) + fy(avb)(y —b)
2 = (193) L ERE S = L)y =L, = (”E) o EEEESS 2, =2 (1) -
vy ).y y y v/, y

r=2y=—10D8 &z, = —1= f,(2,-1),2y = -2 = f,(2,-1), ¥ z=-2= f(2,-1)
Ko TRDZEFHDHERIE 2 — (—2)=—1-(z—-2) +(=2) - {y— (-1} ZEHLT
T+2y+z2=-2
2. ROMHE EOEE SNz mIC BT 2 2R K.
(1) z=22+ay—y?> = (1,1,1) (2) z=—-23+2%+3y*> R (1,-1,1)

(3) z=2a%—y? r=2,y=11TMET 55





